## Mathematic Bohemica

## Bedřich Pondělíček

On permutability in semigroup varieties

Mathematica Bohemica, Vol. 116 (1991), No. 4, 396-400

Persistent URL: http://dml.cz/dmlcz/126027

## Terms of use:

© Institute of Mathematics AS CR, 1991

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://dml.cz

# ON PERMUTABILITY IN SEMIGROUP VARIETIES 

Bedřich Pondělíček, Praha

(Received April 23, 1990)

Summary. The paper contains characterizations of semigroup varieties whose semigroups with one generator (two generators) are permutable. Here all varieties of regular $*$-semigroups are described in which each semigroup with two generators is permutable.

Keywords: Permutable variety, semigroup, regular *-semigroup, semilattice.
AMS Classification: 20M07, 08B10.

An algebra $A$ is called permutable if $\Phi . \Psi=\Phi . \Psi$ for each two congruences $\Phi, \Psi$ on $A$. A variety $\mathscr{V}$ is permutable if every $A \in \mathscr{V}$ has this property. I. Chajda [1] characterized varieties of algebra having permutable algebras with two generators. In my paper [2] all permutable varieties of semigroups are described. The aim of this note is to describe semigroup varieties having permutable semigroups with two generators.

By $W(i=j)$ we denote the variety of all semigroups satisfying the identity $i=j$.
Theorem 1. The following conditions for a variety $\mathscr{V}$ of semigroups are equivalent:

1. $\mathscr{V}$ is permutable.
2. $\mathscr{V} \subseteq W\left(x^{n} y=y\right) \cap W\left(y x^{\prime \prime}=y\right)$ for a positive integer $n$.

Proof. See Theorem 2 of [2].
Theorem 2. The following conditions for a variety $\mathscr{V}$ of semigroups are equivalent:

1. Each $S \in \mathscr{V}$ with one generator is permutable.
2. $\mathscr{V} \subseteq W\left(x=x x^{n}\right)$ or $\mathscr{V} \subseteq W\left(x^{n}=x x^{n}\right)$ for a positive integer $n$.

Proof. $1 \Rightarrow 2$. Let $S \in \mathscr{V}$ and $a \in S$. By $\langle a\rangle$ we denote the subsemigroup of $S$ generated by $a$. Suppose that $\langle a\rangle$ is permutable. It follows from Theorem 6 and Theorem 13 of [3] that $a=a a^{m}$ or $a^{m}=a a^{m}$ for a positive integer $m$. In both cases $S$ contains an idempotent and so by Lemma 1 of [2] $\mathscr{V} \subseteq W\left(x^{n} x^{n}=x^{n}\right)$ for a positive integer $n$. By way of contradiction assume that $\mathscr{V} \$ W\left(x=x x^{n}\right)$ and $\mathscr{V} \$ W$
$\left(x^{n}=x x^{n}\right)$. Then $n \geqq 2$ and there exist $S \in \mathscr{V} \backslash W\left(x=x x^{n}\right)$ and $T \in \mathscr{V} \backslash W$ $\left(x^{n}=x x^{n}\right)$. Consequently, there are $a \in S, b \in T$ such that $a \neq a a^{n}, b^{n} \neq b b^{n}$. It is easy to show that according to Theorem 6 and Theorem 13 of [3], the subsemigroup $\langle(a, b)\rangle$ of $S \times T$ generated by $(a, b)$ is not permutable. Therefore $S \times T \notin \mathscr{V}$, which is a contradiction. Consequently $\mathscr{\gamma} \subseteq W\left(x=x x^{n}\right)$ or $\mathscr{V} \subseteq W\left(x^{n}=x x^{n}\right)$.
$2^{\prime} \Rightarrow 1$. This follows from Theorem 6 and Theorem 13 of [3].
Theorem 3. The following conditions for a variety $\mathscr{V}$ of semigroups are equivalent:

1. Each $S \in \mathscr{V}$ with two generators is permutable.
2. $\mathscr{V} \subseteq W\left(x=x x^{n}\right) \cap W\left((x y x)^{n}=x^{n}\right)$ for a positive integer $n$.

Before the proof we formulate the following
Lemma. $W\left(x=x x^{n}\right) \cap W\left((x y x)^{n}=x^{n}\right)=W\left(x=x x^{n}\right) \cap W\left((x y z)^{n}=(x z)^{n}\right)$.
Proof. We have $(x y z)^{n}=x^{n}(x y z)^{n} z^{n}=(x z x)^{n}(x y z)^{n}(z x z)^{n}=x z u x z$ and so $(x y z)^{n}=\left((x y z)^{n}\right)^{n}=(x z u x z)^{n}=(x z)^{n}$.

Proof of Theorem 3. $1 \Rightarrow 2$. Suppose that every semigroup from $\mathscr{V}$ with two generators is permutable. By $\mathscr{Z}$ or $\mathscr{S}$ we denote the variety of all zero-semigroups or semilattices, respectively, i.e. $\mathscr{Z}=W(x y=u v)$ and $\mathscr{S}=W(x y=y x) \cap W\left(x^{2}=x\right)$. It is well known that $\mathscr{Z}$ and $\mathscr{S}$ are minimal varieties in the lattice of all semigroup varieties. It follows from Theorem 6 and Theorem 13 of [3] that $\mathscr{Z} \cap \mathscr{V}=\mathcal{O}=$ $=W(x=y)$. According to Example 2 of [1] we have $\mathscr{S} \cap \mathscr{V}=\mathcal{O}$. By Lemma 3 of [2] we get $\mathscr{V} \subseteq W\left(x=x x^{n}\right) \cap W\left((x y x)^{n}=x^{n}\right)$ for a positive integer $n$.
$2 \Rightarrow 1$. Assume that

$$
\begin{equation*}
S \in W\left(x=x x^{n}\right) \cap W\left((x y x)^{n}=x^{n}\right) \tag{1}
\end{equation*}
$$

for a positive integer $n$ and that $S$ has two generators $u$ and $v$. We can suppose that $n \geqq 2$. Evidently $S \in W\left(x^{n} x^{n}=x^{n}\right)$.

Put $e=u^{n}$ and $f=v^{n}$. It is clear that $e=e^{2}, f=f^{2}$ and

$$
\begin{equation*}
S=e S \cup f S=S e \cup S f \tag{2}
\end{equation*}
$$

Let $\Phi$ and $\Psi$ be two congruences on $S$. Suppose that $(a, b) \in \Phi . \Psi$. Then $(a, c) \in \Phi$ and $(c, b) \in \Psi$ for some $c \in S$.

Case 1. $a^{n}=b^{n}$. Then we put $d=a^{n} c a^{n}$. Using (1) it is easy to show that $(a, d) \in \Phi$, $(d, b) \in \Psi$ and $d^{n}=a^{n}$. Putting $h=b d^{n-1} b^{n} a=b d^{n-1} a$ we obtain $(a, h)=$ $=\left(b d^{n-1} d b^{n-1} a, b d^{n-1} b b^{n-1} a\right) \in \Psi$ and $(h, b)=\left(b a^{n-1} a d^{n-1} a, b a^{n-1} d d^{n-1} a\right) \in \Phi$. Therefore $(a, b) \in \Psi . \Phi$.

Case 2. $a^{n} \neq b^{n}$. According to (1) and (2) we have the following eight possibilities.
Subcase 2.1. $a=e a$ and $b=e b$. Then we put $d=e c$ and so by (1) we have
$(a, d) \in \Phi$ and $(d, b) \in \Psi$ It follows from (1), Lemma and (2) that $d^{n}=a^{n}$ or $d^{n}=b^{n}$. Without loss of generality we can suppose that $d^{n}=a^{n}$. It follows from (1) that $a^{n} e=(e a)^{n} e=(e a e)^{n}=e$ and so $a^{n} b=a^{n} e b=e b=b$. Putting $h=a d^{n-1} b=$ $=a d^{n-1} a a^{n-1} b$ we have $(a, h)=\left(a d^{n-1} d, a d^{n-1} b\right) \in \Psi$ and $(h, b)=\left(a d^{n-1} a a^{n-1} b\right.$, $\left.a d^{n-1} d a^{n-1} b\right) \in \Phi$. Therefore $(a, b) \in \Psi . \Phi$.

Subcases 2.i $(i=2,3$ and 4). $a=f a$ and $b=f b(a=a e$ and $b=b e, a=a f$ and $b=b f$, respectively). In an analogous manner it can be proved that $(a, b) \in \Psi . \Phi$.

Subcase 2.5. $a=e a e$ and $b=f b f$. Then we have two possibilities.
Subcase 2.5.1. $c=e c e$ or $c=f c f$. Without loss of generality we can suppose that $c=e c e$. It follows from (1) that $c^{n}=e=a^{n}$ and so putting $h=$ $=b b^{n} c^{n-1} a b^{n}\left(b^{n} c^{n} b^{n}\right)^{n-1}$ we obtain $(a, h)=\left(c c^{n} c^{n-1} a c^{n}\left(c^{n} c^{n} c^{n}\right)^{n-1}, h\right) \in \Psi$ and $(h, b)=\left(h, b b^{n} c^{n-1} c b^{n}\left(b^{n} c^{n} b^{n}\right)^{n-1}\right) \in \Phi$. Therefore $(a, b) \in \Psi . \Phi$.

Subcase 2.5.2. $c=e c f$ or $c=f c e$. Without loss of generality we can suppose that $c=e c f$. By Lemma we have $c^{n}=(e f)^{n}$ and so $c^{n} a=(e f)^{n} e a=(e f e)^{n} a=$ $=e a=a$. Analogously we get $b c^{n}=b$. Putting $h=b c^{n-1} a$ we obtain $(a, h)=$ $=\left(c c^{n-1} a, b c^{n-1} a\right) \in \Psi$ and $(h, b)=\left(b c^{n-1} a, b c^{n-1} c\right) \in \Phi$. Therefore $(a, b) \in \Psi . \Phi$.

Subcase 2.6. $a=f a f$ and $b=e b e$. Analogously we can show that $(a, b) \in \Psi$. $\Phi$.
Subcase 2.7. $a=e a f$ and $b=f b e$. According to Lemma we get $a^{n}=(e f)^{n}$ and $b^{n}=(f e)^{n}$. We have two possibilities.

Subcase 2.7.1. $c=e c e$ or $c \in f c f$. Without loss of generality assume $c=e c e$. By (1) we have $c^{n}=e$. Putting $h=b c^{n-1} a$ we obtain $(a, h)=\left(c c^{n-1} a, b c^{n-1} a\right) \in \Psi$ and $(h, b)=\left(b c^{n-1} a, b c^{n-1} c\right) \in \Phi$. Therefore $(a, b) \in \Psi . \Phi$.

Subcase 2.7.2. $c=e c f$ or $c=f c e$. Without loss of generality assume that $c=e c f$. By Lemma we have $c^{n}=(e f)^{n}=a^{n}$ and $\left(c^{n} b^{n}\right)^{n}=e$. Putting $h=b c^{n-1} a b^{n}\left(c^{n} b^{n}\right)^{n-1}$ we obtain $(a, h)=\left(c c^{n-1} a c^{n}\left(c^{n} c^{n}\right)^{n-1}, h\right) \in \Psi$ and $(h, b)=\left(h, b c^{n-1} c b^{n}\left(c^{n} b^{n}\right)^{n-1}\right) \in \Phi$. Therefore $(a, b) \in \Psi . \Phi$.

Subcase 2.8. $a=f a e$ and $b=e b f$. In an analogous manner it can be proved that $(a, b) \in \Psi . \Phi$.

We have proved that $\Phi . \Psi \subseteq \Psi . \Phi$. Analogously we can show that $\Psi . \Phi \subseteq$ $\subseteq \Phi . \Psi$ and so $S$ is a permutable semigroup.

Note 1. By a regular *-semigroup we shall mean (see [4]) an algebra ( $S, \cdot, *$ ) where $(S, \cdot)$ is a semigroup and $*$ is a unary operation on $S$ satisfying

$$
\left(x^{*}\right)^{*}=x, \quad x=x x^{*} x \quad \text { and } \quad(x y)^{*}=y^{*} x^{*}
$$

By $W^{*}(i=j)$ we denote the variety of all regular *-semigroups satisfying the identity $\boldsymbol{i}=\boldsymbol{j}$. It follows from Theorem 1 of [5] and Theorem 1 of [6] that a variety $\mathscr{V}$ of regular $*$-semigroups is permutable if and only if $\mathscr{V} \subseteq W^{*}\left(x x^{*}=y y^{*}\right)$.

Now we shall show
Theorem 4. The following conditions for a variety $\mathscr{V}$ of regular *-semigroups are equivalent:

1. $\mathscr{V}$ is permutable.
2. Each $S \in \mathscr{V}$ with two generators is permutable.
3. $\mathscr{V} \subseteq W^{*}\left(x x^{*}=y y^{*}\right)$.

Proof. $1 \Rightarrow 2$. Evident.
$2 \Rightarrow 3$. Suppose that every regular $*$-semigroup with two generators from $\mathscr{V}$ is permutable. According to Lemma 4 of [5] it is sufficient to show that $S_{2}, S_{4} \notin \mathscr{V}$, where $S_{2}$ is a two-element regular *-semigroup with the tables

| $\cdot$ | 1 | 0 |
| :---: | :---: | :---: |
| 1 | 1 | 0 |
| 0 | 0 | 0 |


| $*$ |  |
| :--- | :--- |
| 1 | 1 |
| 0 | 0 |

and $S_{4}$ is a four-element regular *-semigroup with the tables

| $\cdot$ | $e$ | $f$ | $e f$ | $f e$ |
| :---: | ---: | ---: | ---: | ---: |
| $e$ | $e$ | $e f$ | $e f$ | $e$ |
| $f$ | $f e$ | $f$ | $f$ | $f e$ |
| $e f$ | $e$ | $e f$ | $e f$ | $e$ |
| $f e$ | $f e$ | $f$ | $f$ | $f e$ |


| $*$ |  |
| :---: | :---: |
| $e$ | $f$ |
| $f$ | $e$ |
| $e f$ | $e f$ |
| $f e$ | $f e$ |

By $\mathscr{T}$ we denote the variety of all semilattices with $*=\mathrm{id}$. It is easy to show that $\mathscr{T}$ is minimal in the lattice of all regular $*$-semigroup varieties. According to Example 2 of [1] we have $\mathscr{T} \cap \mathscr{V}=W^{*}(x=y)$. Evidently $S_{2} \in \mathscr{T}$ and so $S_{2} \notin \mathscr{V}$.

It is well known (see [7] and [8]) that an algebra $A$ has its congruence lattice Con $(A)$ modular whenever $A$ is permutable. In the proof of Theorem 5 of [5] it is proved that the lattice $\operatorname{Con}\left(S_{4} \times S_{4}\right)$ is not modular. Therefore the regular *-semigroup $S_{4} \times S_{4}$ is not permutable. It is easy to show that $S_{4} \times S_{4}$ is generated by $(e, e)$ and $(e, f)$. Consequently $S_{4} \times S_{4} \notin \mathscr{V}$ and so $S_{4} \notin \mathscr{V}$.
$3 \Rightarrow 1$. See Note 1.
Note 2. The following problem remains open:
describe all varieties of regular *-semigroups in which each semigroup with one generator is permutable.

## References

[1] Chajda, I.: A Note on permutability in varieties. Časopis p̌̌st. matem. 115 (1990), 85-91.
[2] Pondélǐek, B.: Tolerance modular varieties of semigroups. Czech. Math. J. 40 (115) (1990), 441-452.
[3] Hamilton, $H$.: Permutability of congruences on commutative semigroups. Semigroup Forum 10 (1975), 55-66.
[4] Nordahl, T. E.; Scheiblich, H. E.: Regular *-semigroups. Semigroup Forum 16 (1978), 369-377.
[5] Pondélitek, B.: On varieties of regular *-semigroups. Czech. Math. J. 41 (116) (1991), 110-119.
[6] Chajda, I.: Tolerance trivial algebras and varieties. Acta Sci. Math. (Szeged) 46 (1983), 35-40.
[7] Jónsson, B.: On the representation of lattices. Math. Scand. 1 (1953), 193-206.
[8] Jónsson, B.: Modular lattices and Desargues' theorem. Math. Scand 2 (1954), 295-314.

Souhrn
O PERMUTABILITĚ VE VARIETÁCH POLOGRUP

## Bedřich Pondě̌íčée

V práci jsou charakterizovány variety pologrup, v nichž jsou permutabilní pologrupy generované jedním resp. dvěma prvky. Zde se též popisují všechny variety regulárních *-pologrup, jejichž pologrupy generované dvĕma prvky jsou permutabilní.

Author's address: FEL ČVUT, Technická 2, 16627 Praha 6.

